o

<op/p. > (%)

<3 @> (rad)
o
=
(6)]

2_ ¥ T T — F T
= 4 : A = :
E T : <) E :
SRR NI LA RS {EREL BN e (O R I R R
E : : o E { %
Y N P I . e S U I B A P,
0.0 : : v O
0.05f--=---f-qi-meofoee ------- ------------ 0.05F-------}{-5------ “ --------------------
S N | 1| SRS SO O S | - e S
SOOI 8 AL S 111 1 SR S OO | R ; % .....................
| SRR IS R 1 | U s 0, U | S VRS FOUTURU TR
uRRREEE Y EERRRE AR T —0.15f--eeee e T
: T .! Ao "!«»“'0"""! L _9—0,2: MR Y Y I AT | ......! L
r..... 1. B = [ T
F ][ [ 8 | RRREY CEREY e
- + R E "05
F T4: 05F-----4----- H EEC B B B R e
05: T 1 : o l : :
-1 2 3 -1 2 3
10 1 TPlpg)T (PCA t%obeamlinélf) 10 1 TPlpoT (PCA t%obeamlinélf)
—=— DQM_TT__mkFit-DQM_original-0
—— DQM_TT__mkFit-DQM_updated-0
E T F : .
F 3 40F---- : b o AR § RERESEEERECEREEE
o ~ ot i
(510 RRREE N SRREEREREEEEEE] BRI BE REEY REREMERERERERERE < 201k Ap e
- T o L : :
e L e I 1 R R SRR v ob IR L L
20F- A Aot e L | e
0:_ ..................... AY i ¢ L ;‘;, """""""""
—20F--- I —40:—"" """""""""
A0y O ) SR 1411 O S
—60F----{f Foeeeeees R R r HT
—80:—“" .................... =80 - """""""""""
100: i nn |!“| 1 i | L 9_100: by 1 ||0:j 1 i | L
1:_ ----- -o- ‘: : - § ]_:— ----- £ :00 04» : L = & Rt
0.5f--- $At A E U7 : T
. 1 : 0.5----- - B ¥ Y ¥ £ PP R PP PP
10(;‘1 1 10 ) 62 10° 1(;‘1 1 10 - 02 10°
TPp, (PCA t%) beamlinep TPp, (PCA t%) beamlinep
5:
A
RPN IUUUEFORSRPPROO 1 OO (0 SO S
2;— ------------------------------------
1:
0

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o



	Contents
	Page 1


